DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)
TEST 1

Name:

Time: Score:

N —=890.8 + 10 =

2 31.2+5=

5 18188 +4 =

9 —1810.8 +3 =

5 43875 +5 =

0 —163.72 + (—2) =
021112 =+ (—0.08) =
9 737+ (-0.2) =

0 —1.464 + (—0.02) =
1) —=4199 +1=

1 —66310 + 10 =

12) —27650 + 5 =

1) 87.38 +10 =

o —1.2336 + 0.3 =

15 5384 + 10 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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—41.66 + (—2) =
—956.15 +0.05 =
—2446.5 + (=7) =
—52.93 = (—0.1) =
—81.71 + (—0.01) =
—50200 + 10 =
—45150 + 5 =
—308.4 +5 =
—0.000532 =+ 0.002 =
—23.88 + (—2) =
10924 =4 =

4.968 + (—0.1) =
—2666.3 + 0.7 =
—253.41 +3 =

4.527 =+ 0.05 =
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